&) akasa.

SUPERB DESIGN ENGINEERING

L

User Manual

Product Code: A-NUC87-A1B / A-NUC87-M1B

GB

CAUTION

Electrostatic discharge (ESD) can damage system components. If an ESD-controlled
workstation is not available, wear an antistatic wrist strap or touch an earthed surface before
handling any PC components.

WARNING

Please be careful when unpacking and setting up this product as metal edges can cause injury
if not handled with care. Keep away from children.

FR

ATTENTION

Une décharge électrostatique (ESD) risque d’endommager les composants du systéme. Si vous
ne disposez pas d‘une station de travail avec protection contre I'ESD, portez un bracelet
antistatique ou touchez une surface reliée a la terre avant de manipuler les composants de
I'ordinateur.

AVERTISSEMENT

Faites attention lors du déballage et de I'installation de ce produit car il comporte des coins
métalliques coupants qui risquent de vous blesser s'ils ne sont pas manipulés avec soin.
Garder loin des enfants.

DE

Vorsicht

Elektrostatische Entladungen (ESD — Electrostatic discharge) kénnen Systemkomponenten
beschédigen. Sollte ein ESD geschutzter Arbeitsplatz nicht vorhanden sein, tragen Sie ein
antistatisches Armband oder bertihren Sie eine geerdete Oberflache bevor Sie mit den
Arbeiten am Computer beginnen.

Warnung

Seien Sie vorsichtig beim Auspacken und beim Aufbau dieses Produktes. Scharfe Metallkanten
konnten Verletzungen hervorrufen wenn ohne die nétige Vorsicht vorgegangen wird.

Von Kindern fernhalten.

ES

CUIDADO

Descargas electrostaticas (ESD) pueden danar los componentes de su sistema. Si no puede
disponer de una estacién de trabajo libre de electrostatica, use una muriequera antiestatica o
toque una superficie que haga tierra antes de manipular los componentes del ordenador.
PELIGRO

Por favor sea cuidadoso cuando desempaquete y ensamble este producto. Los filos de metal
pueden causarle cortes o heridas si no son manipulados adecuadamente.

Aléjate de los nifos.

PT

CUIDADO

Descargas Eletroestaticas (ESD) podem danificar componentes do PC. Caso nao tenha uma
bancada especifica disponivel, utilize uma pulseira anti-estatica ou toque uma superficie
aterrada antes de manusear qualquer componente.

ATENGAO

Por favor tenha cuidado ao desembrulhar e montar este produto, as extremidades de metal
podem machucar, caso o mesmo nao seja manuseado com cuidado.

Manter fora do alcance das criancas.

RU

OCTOPOXHO

nekTpocTatnyecknii paspsag (ACP) MOXeT MOBpPeAnTb KOMMOHEHTbI c1UcTeMbl. Ecin pabouee
MecTo ¢ 3awuToit ot SCP oTCyTCTBYeET, peKOMEHAYeTCA NPy paboTe C KOMMbIOTEPHBIMM
KOMMOHEHTaMVi HafleBaTb aHTUCTaTUUYECKNI 6pacieT nnn o6ecneunTb KOHTaKT Tena ¢
3a3eM/IEHHON MOBEPXHOCTbIO.

OMNACHO

CobnioaaiiTe OCTOPOXHOCTb NPV PacNakoBKe 1 MOHTaXe 3TOr0 13[eNA Tak Kak OCTpble Kpas
MeTannMyecKmx YacTeil MoryT CTaTb MPUYMHO Gr3nyecKon TpaBMbl. He nofnyckaiite K nsaenuio
neteil.

cz

POZOR

Elektrostaticky vyboj (ESD) muze poskodit soucasti systému. Pokud neni k dispozici pracovni
stanice s kontrolou pied ESD, pouzivejte antistaticky feminek na zapésti nebo se pred
manipulaci s jakymikoli sou¢astmi poé¢itace dotknéte uzemnéného povrchu.

VAROVANI

Pfi vybalovéni a nastavovani tohoto vyrobku davejte prozor, protoze kovové okraje mohou pri
neopatrném zachazeni zplisobit poranéni. Udrzujte mimo dosah déti.

JP

EE

AEXKE (ESD) FBFHM - BB ICBREES522 2N BN T, KRGO S
FREZTSHIIC. BIBBIREFEZT > TKRIV, HBETPHILEDS L IFHES
F)?JJ‘:EFEZ rov7Z2EBRLT. B FEEZT > TS,

‘ =

EEOA (TvY) HRTTHZI2BNIHDEITDT, FUREFER. €y b7
Y 7IBEICIE. <NARBTHTERLLES V. FELDFOBDIEVFICEVWTTE
(A%

CN

i 8

FRRAFE (ESD) ATRES AR R Gt 15 MTESD T {Euh « HIHEMAB LA T 1R » 1556
iiﬁﬁﬂﬁ%@@ﬁ%ﬁéﬁﬁ]ﬁﬁmmﬁﬁ » R AL -

FRRZETENDEA  BRFSBOLE o TBEE °

5140267403 V2

x8 (silver)

x8 (black )

GB

@ Thermal compound @®) Thermal gap filler @ Screws for motherboard (M3) ® Washer ® M.2 SSD heatsink

@ Thermal gap filler (for M.2 SSD) ® Clips/Screws @ EMI gasket @ 2.5" HDD/SSD screws (M3)

@ 2.5" HDD/SSD mounting bracket @ HDD protective film @3 SATA adapter cable @ Screws @ End cover @ Standoffs
@ © Case feet O Screws (6-32) @ Screws (M3)

FR

@ Composé thermique @@ Pate thermique @ vis pour carte mere (M3) ® Rondelle ® Dissipateur SSD M.2
@ Pate thermique (pour M.2 SSD) ® Clips / Vis @ Joint de blindage EMI @ Vis de disque dur / SSD 2,5" (M3)
@ Support de fixation de disque dur / SSD 2,5” @ Film protecteur de disque dur @ Cable adaptateur SATA
Vis @ Couvercle @ Stud @ @ pied de boitier @ Screws (6-32) @ Screws (M3)

DE

@ Warmeleitpaste @@®@ Thermaler Lickenfiller @ Schrauben fur das Motherboard (M3) ® scheiben

® M.2 SSD-Kuhlkérper @ Thermaler Liickenfiller (fir M.2 SSD) ® Clips / Schrauben @ EMI-Dichtung

@ 2.5" HDD/SSD Schrauben (M3) @ 2,5" HDD/SSD-Befestigungsbugel @ HDD-Schutzfilm @ SATA-Adapterkabel
Schrauben @ Obere Abdeckung @0 Stud @ @ GehausefiBe @ Schrauben (6-32) @ Schrauben (M3)

PT
@ Pasta térmica @@ Pelicula térmica @ parafusos para placa-mae (M3) ® Arruela ® M.2 dissipador de calor SSD
@ Pelicula térmica (para M.2 SSD) ®) Clipes / Parafusos (@ Junta EMI (D Parafusos para HD e SSD (M3)

@ suporte de fixacdo para HD e SSD @ pelicula protetora para o HD @ Cable adaptador SATA

Parafusos @ Acabamento Lateral @ Espacador @ @ fixacdo do gabinete @ Parafusos (6-32) @ Parafusos (M3)

ES

@ Compuesto térmico @®) Relleno térmico @ tornillos para la placa base (M3) ® Arandela

® Disipador de calor M.2 SSD @ Relleno térmico (para M.2 SSD) ® Clips / Tornillos @ Junta EMI
@0 tornillos para HDD/SDD de 2,5” (M3) @ Soporte de montaje para HDD/SDD de 2,5"

@ Pelicula protectora para HDD @3 Cable adaptador SATA @ tornillos

(@ Tapa superior @ Stud @ @ pies de la carcasa @ tornillos (6-32) @ tornillos (M3)

RU

@ TepmokomnayHps @@ TepmosanonHutens 3a30pos @ BuHTbI Ana MaTepuHcKol nnatbl (M3)

® LWaitba ® M.2 SSD Tepmomoaynb @ TepmosanonHuTens 3a30pos (ana M.2 SSD) ) 3axumbl / BuHTbI
(© 3MU-npotektop (D BunTbl (M3) ans anckos 2,5” HDD/SSD

@D MoHTaxHbIi KPOHLWTENH AnA anckos 2,5” HDD/SSD

(2 3awmTHan nnerka ana HDD @ MepexopHoli kabenb SATA BunTbl @ Topuesas Kpbiluka

@ KpenexHbie croitkn @ @ Hoxku kopnyca @ BunTsi (6-32) @ BunTbi (M3)

cz

@ Tepelna sloutenina @® Teplotni vyplii @ Srouby pro zakladni desku (M3) & Podlozka ® M.2 chladi¢ SSD
@ Teplotni vyplii (pro M.2 SSD) ® Klipy/Srouby @ Tésnéni EMI (0 Srouby pro 2,5 HDD/SSD (M3)

@ Upeviovaci drzék pro 2,5” HDD/SSD @ Ochranny povlak HDD @ Kabel adaptéru SATA

Srouby @ Koncovy kryt @ Stojanky @ @ Nozky @ Srouby (6-32) @ Srouby (M3)

P
OBMEEMEIA VNIV K @O Y—IVFr vy TT745—@IY—KR—FBERL (M3)
®T7vYr—@®M22SDE— VT QB —RIVFEr Yy T T45—M2SSDR) ® Vv /%Y
@ Emiv—JU RHR4y @ ” 2.5" HDD/SSD 8% (M3) @ 2.5" HDD/SSD Bt 754 b
@QHDDRE T 1 Vs BT R TZ—4r—T)V @ %Y @ EAN— ® XZ2v K

@O r—RH O %Y (6-32) @ % (M3)

SRE QO SHETKH @ FRIEZ (M3) ©® B © M.2 SSDE#HE
SHIEFRR (M2 SSD ) ® 822 O muFigi F @ 2.5" HDD/SDD #42 (M3)
2.5" HDD/SDD %% @ BAFRIFRE O SATAER SR @ 122 O iz ©® 8k

CN
®
o
@ © HFEME O 84 (6-32) @ 1822 (M3)

Front Panel Layout

USB 3.2 Gen 2 ports Headphone / Microphone

—————————————————— Power switch

Rear Panel Layout

Rear I/0 opening

® | ®
30%@%%

® O S) O ®
Antenna‘fitting holes S— Kensington lock hole
Internal Layout
= 9 I'sle © (o2 °
— 0 =
°® ®@°
o]
[e]

9] o
o[

3 (B)
o
® @g © —

@ Aluminium heatsink for heat transfer
® M/B mounting standoffs
® 2.5” HDD / SSD mounting holes

Installation

Case Feet Installation

I

- -

9

1"

/i

2022/12



